ACF Winter 2009: The Last Stand of Eponym Eponymovich
Packet by Harvard A (Andrew Watkins) 

1. Experiments by Nimtz have confirmed a controversial result related to the formalism for this phenomenon developed by Hartman in response to the discovery that the duration of this phenomenon is independent of width, implying that it could occur faster than light, determined by Eisenbud and Wigner. Resulting in a region of negative differential resistance, this effect is exploited by Esaki diodes, and under certain conditions, it occurs with unity probability in the Ramsauer-Townsend effect. The Fowler-Nordheim type refers to when electrons do it in the presence of a strong electric field, also called cold emission, which is applied by a certain kind of microscope. This phenomenon was first applied to the process of alpha decay by Gamow. For 10 points, identify this phenomenon in which a particle trapped in a potential well with walls higher than its own kinetic energy manages to escape anyway. 

ANSWER: quantum tunneling 

2. In one of this author's plays, the young man, who has been doing calisthenics near the title object, reveals his identity as the Angel of Death to the grandmother. In another play, the Grandmother wins twenty-five thousand dollars using the pseudonym of “Uncle Henry,” while one character initiates a tickle fight, pulls a knife, and impales himself on it in another play. This author is best known for a play in which one character enters with snapdragons and announces “flores para los muertos” in the beginning of the third act, which concludes with the game “Bringing Up Baby,” witnessed by Nick and Honey and played by George and Martha. For 10 points, identify this author of The Sandbox, The American Dream, The Zoo Story, and Who's Afraid of Virginia Woolf?. 

ANSWER: Edward Albee 

3. Didymus holds that her name was originally Arnacia, and that she got her better-known name from the birds that fed her after Nauplius tossed her into the sea; another uncommon tradition places her as the mother by Hermes in the shape of a ram of Pan, possibly confusing her with a similarly named nymph. She becomes the mother of Italus after marrying Telegonus in one tradition, while earlier her father Icarius had forced her husband to beat him in a footrace to marry her. She wisely tells her servant Eurykleia to move her husband's bed, which cannot be done, and her other household servants includes the swineherd Eumaeus and the cowherd Philoetius. She cleverly promises to make a certain decision once she finishes weaving a shroud for her father-in-law, Laertes; when that fails after three years, she sets up a challenge involving shooting an arrow through twelve axes. Tolerating men like Agelaus and Antinoos, for 10 points, identify this ever-faithful mother of Telemakhos and wife of Odysseus. 

ANSWER: Penelope 

4. This man proposed the mechanism of the epigenetic principle, and his work partially springs from his observations of the Yurok tribe. Before collecting his speeches in the compilation Insight and Responsibility, this thinker collaborated with Kivnick on an examination of Vitality in Old Age. One of this man’s books describes the process through which the concept of satyagraha emerges, while another book examined “The meaning of meaning it” and described its subject’s “fit in the choir.” The author of Ghandi’s Truth, this person set forth contrasts like integrity and despair, autonomy and shame, and industry versus inferiority. For 10 points, identify this author of Young Man Luther and Childhood and Society, the psychologist who developed the identity crisis and eight psychosocial stages of development. 

ANSWER: Erik Homburger Erikson 

5. One side in this battle featured several units that had been in French service, such as the John Drummond-commanded Royal Écossois, while the other had been augmented a few months before by a force of five thousand Hessians led by Prince Frederick. One side's commander attempted a sneak attack in the night but only made it a few miles from the River Nairn an hour before daybreak. It resulted in the discontinuation of a common wood and leather shield called the targe, which had been essential to the Highland charge, rendered ineffective by new bayonet techniques, which aided in Murray's rout at the hands of Cumberland. For 10 points, identify this battle, which ended the Second Jacobite Rebellion with the defeat of Bonnie Prince Charlie. 

ANSWER: Battle of Culloden Moor [or Blàr Chùil Lodair] 

6. A corpse belonging to one of these is cut into twelve pieces by a Levite living in Ephraim after being raped by a gang of thugs. That one is appears in Judges 19, and consequently, the fifteenth of Av commemorates the readmission of the Tribe of Benjamin after that same incident, referring to one “at Gibea.” Jacob had one of these named Bilhah and one named Zilpah, while King Solomon notably had three hundred, and they are distinguished because they do not receive a ketubah. Islam limits the number of these to the number of orphans one may support, while a famous one of these gave birth to the husband of Aisha and Fatima. For 10 points, identify this position occupied by Ishmael's mother Hagar, because she lived with Abraham though he was married to Sarah. 

ANSWER: concubines 

7. In one episode in this novel, the members of a poetry club go kite-flying while preparations are made for the funeral of another character, who had committed suicide by swallowing a piece of gold, Second Sister Yu. The first chapter sees a man who lives next to the Gourd Temple, Shi Yin, chat with Yu Cun and send him off to the capital before leaving himself. The beginning of this novel explains how the story is actually engraved on the one stone not used by Nu Wa-shi to repair the heavens. The protagonist loves Lin Daiyu but is destined to marry Xue Baochai; “precious jade” is the meaning of the name of the protagonist, Pao-yu. For 10 points, identify this novel, which chronicles the Rongguo House and the Ningguo House of the Jia family, written by Cao Xueqin. 

ANSWER: The Dream of the Red Chamber [or Red Chamber Dream; or A Dream of Red Mansions; or Hong Lou Meng] 

8. This band’s lead vocalist is said to smell like butterscotch. One of this band's songs implores the listener to “get the cool shoeshine,” though it's better known in a remix by Soulchild. Along with “Rock the House” and “Tomorrow Comes Today”, this band’s eponymous first album featured the single “Clint Eastwood.” One song about “a melancholy town where we never smile” featured De La Soul, and songs like “Kids With Guns” and “Dare” appeared with “Feel Good Inc” on their most recent studio album, Demon Days. For 10 points, identify this band created by Damon Albarn and Jamie Hewlett, comprising Russel, Murdoc, 2D, and Noodle, a bunch of cartoons. 

ANSWER: Gorillaz 

9. If a palladium catalyst is not used, allyl esters rearrange to gamma-delta unsaturated compounds through this intermediate in the Carroll rearrangement, while beta-gamma unsaturated compounds equilibrate when possible with alpha-beta unsaturated compounds with this species as the intermediate. Alkylation of ions of these molecules by an alkyl halide or a tosylate forms carbon-carbon single bonds, and stereochemical information is lost over time in ethylacetoacetate because of the formation of one. While forming one with acid can lead to single halogenation, using base leads to the haloform reaction and the generation of a carboxylate. Enamines may be used as equivalents to this functional group, and they are essential to the Robinson annulation and the Claisen condensation. Malonic acid derivatives form particularly stable ones due to conjugation. For 10 points, identify this functional group, the tautomer of many carbonyl compounds. 

ANSWER: enols 

10. Among the administration of this polity was the hi' koi, who controlled the fleet and home affairs. Local positions included the kurmina fari, the governor of one of two major provinces, while the central governmetn appointed special ministers called korei farma to oversee white minorities. One of its rulers, refusing to convert to Islam, was overthrown by a man sometimes called Sylla, who expanded the empire as far Dendi and Yatenga. Rulers of this empire like Ishak I and Dawud succeeded Askiya Muhammad. Its best-known ruler took the title of daali, conquered the city of Djenne, and expelled the Tuareg peoples. For 10 points, identify this African empire with capital at Gao, which supplanted the Mali empire and was most famously led by Sonni Ali. 

ANSWER: Songhai Empire 
11. Its delta names a state with capital at Tucupita, and it forms the beaches of San Fernando de Atabapo. The Ature  and Maipures cataracts divide this river, which contains the Llovinza Falls. The biggest waterfall in its upper portion is called Salto Libertador, while it is connected to the Amazon via the Casiquiare and Esmerelda, which form the Rio Negro. It flows from Delgado Chalbaud mountain to the Delta Amacuro into the Gulf of Paria, and to its south is the plateau Auyantepui, which features the highest waterfall in the world, Angel Falls. Flowing through the Llanos and forming part of the border with Columbia, for 10 points, identify this chief river of Venezuela. 

ANSWER: Orinoco River 

12. Only Jacob Read supported both this document and the nomination to Chief Justice of one of its most outspoken proponents, John Rutledge. It was supported under the pseudonym of Camillus by Alexander Hamilton, while Fisher Ames gave a speech in favor of it as a Congressman from Massachusetts. Granting free passage between the US and Canada to all those half Native American or more, it set the Saint Croix river as the northeastern boundary of the United States. Enraging the nascent Republican party, this is, for 10 points, which agreement between the United States and Great Britain, settling conflicts that had arisen after the Treaty of Paris, which takes its most common name from its major negotiator, the first chief justice of the Supreme Court? 

ANSWER: Jay's Treaty [or Treaty of London of 1794] 

13. Cellos are doubled by bassoons before the tutti at “juxta crucem lacrimosa” in the opening movement of this composer's setting of Stabat Mater. Six settings of “Mi lagnero tacendo” that he called Musique anodine and his Petite Messe Solonelle are included in his Sins of Old Age, while another of his works concerns the daughter of the King of Lesbos, Polidoro. This composer of Zelmire also substituted a philosopher named Alidoro and Don Magnifico for the traditional fairy godmother and wicked stepmother in La Cenerenterola. In his most famous work, the title character, introduced with the aria “Largo al factotum,” preoccupies Lindoro so that his compatriot can find time with Rosina, who ultimately marries Count Almaviva. For 10 points, identify this composer of William Tell and The Barber of Seville. 

ANSWER: Gioachino Antonio Rossini 

14. “Calculus racked” and “Tussis attacked” the subject of this author’s poem “A Grammarian’s Funeral.” The subject of one of his poems refers to “a great text in Galatians” which “entails / Twenty-nine distinct damnations” as he condemns the indulgences of Brother Lawrence, while another of his poems begins by exclaiming “Grow old along with me! / The best is yet to be.” This author of “Soliloquy of the Spanish Cloister” and “Rabbi Ben Ezra” and the collection Dramatis Personae wrote of someone who “found a thing to do” in strangling the title character with her own hair. His best-known poem reflects on a man with a “nine-hundred-years-old name” who is proud of a statue of “Neptune... taming a sea-horse” by Claus of Innsbruck. FTP, name this poet of “Porphyria’s Lover” and “My Last Duchess.” 

ANSWER: Robert Browning 

15. One of this kind of mineral, whose crystals also contain magnesium and iron, is at the top of Bowen's reaction series, while zircon contains this mineral class's characteristic group and zirconium. In addition to olivine, an ortho- one, one variety of a group of these was the source of the first rubidium to be discovered, while another is best known for its perfect basal cleavage and the thin sheet into which is breaks: those varieties are known as lepidolite and muscovite. Their best known subclass is the tecto-ones, all of which contain aluminum save the best known group of them. Examples of the alumino-ones include zeolites and feldspars. For 10 points, identify this class of minerals, like quartz and mica, all of which include oxygen and silicon. 

ANSWER: silicates 

16. One of these poems notes that “the free creature / has its progress always behind it, / and God before it,” and concludes by observing that “We arrange it. It collapses. / We arrange it again, and collapse ourselves.” In another, constellations like “the Rider, the Staff, and... Fruit-Garland” are enumerated by a personified Lament, and that one ends by supposing “if the endless dead woke a symbol in us.” One of these invokes the lover Gaspara Stampa, and a better-known example invokes the “days of Tobias” and declares in its first line that “Every Angel is terror.” Beginning by invoking “if I cried out, who would hear me, among the angelic orders,” for 10 points, identify this series of ten poems named for a castle by Rainer Maria Rilke. 

ANSWER: Duino Elegies [or Duineser Elegien] 

17. He explored the possibility of alliance with the Ilkhanate under Arghun, receiving the monk Rabban Bar Sauma, against the Mamluks. A force he sent to Flanders was defeated at the Battle of Golden Spurs, and he later had the last Grand Master of the Knights Templar burned at the stake. He collected all outstanding debt to Jewish moneylenders, rewarded one fifth of any Jewish treasure found to the discoverer and took the rest, and exiled the Jews from France, though they were invited back nine years later. He stripped Edward I of his possessions in France when the latter refused to appear in court. For 10 points, identify this Capetian king, whose nephew's reign saw the beginning of the Hundred Years War, and during whose reign the Babylonian Captivity began. 

ANSWER: Philip IV [or Philip the Fair; prompt on Philip] 

18. He overlapped a pair of soprano saxophones repeating an interval in different rhythms for the score for Beckett's play Play, and one of his compositions, in which a stepmother kills her son when he reaches into a chest for an apple, is based on the story by the Brothers Grimm, “The Juniper Tree.” He provided the “Rome Section” to The Civil Wars, which is still incomplete, and his One Plus One required hands rapping a table fitted with a microphone. The opening scene of one piece features an aria becoming a duet and then a trio against the background of a chaconne and is entitled “The Kuru Field of Justice.” The final scene of his most famous piece features frantically chanted numbers, which may imply some sort of nuclear holocaust. For 10 points, identify this minimalist composer of Satyagraha, Akhenaten, and Einstein on the Beach. 

ANSWER: Philip Glass 

19. The flgB ["f-l-g-b"] operon controls transcription of the distal rod protein of its blepharoplast, and fliF proteins aggregate into the MS ring of this structure. The secretion system referred to as T3SS uses a simpler version of one component of this organelle. Nexin links the components of these organelles together, preventing them from being dissolved, while its shaft passes through four rings, rather than two, in Gram-negative bacteria. In eukaryotes their motion results from the alternating movements of two sets of dynein arms, while those of prokaryotes are screw-shaped and rotate. The defining external feature of sperm cells, these are, for 10 points, what long structures in eukaryotes that whip back and forward to allow for movement? 

ANSWER: flagellum [or flagella] 

20. One class of them correspond to irreducible root systems; that class has extended and affine varieties, the latter sort of which can describe Cartan matrices. The Hadwiger conjecture concerns these objects, as does the Robertson-Seymour theorem. Some functors have these objects as domains, and in that situation they are called quivers. The clique number of one of these objects is denoted by omega, and one class of them define a Weiner polynomial and may be represented by an adjacency matrix. One kind, called a forest, disallows cycles, while in quivers, loops are allowed. Forests are so called because they could be considered collections of trees, which are, for 10 points, a subset of what mathematical constructs composed of edges and vertices? 

ANSWER: graphs 

21. In one of this man's paintings, a man falls into a ditch, tripping the man behind him, who will cause the four behind him to fall in turn since they are all holding onto a long stick, being unable to see. In addition to The Parable of the Blind, he depicted an army at center marching ominously into a snowy village as the cavalry rides around spearing infants in The Massacre of the Innocents. Peasants dance gaily while a bird perches on a wooden frame in his The Magpie on the Gallows, while he drew a man with a knife twice the size of his body cutting into a bloated corpse in Large Fish Eat Small Fish, which is itself included in a larger painting depicting the proverbs of his native land. Well known for several depictions of the Tower of Babel, for 10 points, identify this Flemish artist of Hunters in the Snow and Landscape with the Fall of Icarus. 

ANSWER: Pieter Bruegel the Elder 
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1. One of his contributions to the sociology of science is a concept whereby an idea becomes so popular, commonly invoked, and useful that its originator is forgotten. For 10 points each: 

[10] Identify this sociologist who invented the phrases “self-fulfilling prophesy” and "obliteration by incorporation." 

ANSWER: Robert King Merton 

[10] Obliteration by incorporation, along with a lot of other concepts, were introduced in this best known Merton work. 

ANSWER: Social Theory and Social Structure 

[10] Robert Merton’s thesis has also been applied to the study of anomie, which along with a book about Suicide was described in the work of this sociologist. 

ANSWER: Emile Durkheim 

2. One of his most famous compositions was originally entitled 8' 37”, commemorating the duration of the event it memorializes, while he also composed an a cappella work with an occasionally giggly chorus. For 10 points each: 

[10] Identify this Polish composer of the St. Luke Passion, not to be confused with Gorecki. 

ANSWER: Krzysztof Penderecki 

[10] Penderecki is well known for this composition, written in memory of a certain WWII event and which occasionally directs the musicians to slap the body of their instruments. It employs quarter-tones extensively, which Wikipedia inexplicably calls “hypertonality.” 

ANSWER: Threnody to the Victims of Hiroshima [or Tren ofiarom Hiroszirny] 

[10] Penderecki was asked by Solidarity to commemorate those killed at the Gdansk shipyards, so he composed Lacrimosa, which became the tenth of sixteen movements in this piece. 

ANSWER: Polish Requiem 

3. Answer some questions about the glorious administration of Warren Gamaliel Harding, for 10 points each. 

[10] Harding is best known for his Secretary of the Interior's implication in this scandal, named for an oil field in Wyoming. 

ANSWER: Teapot Dome 

[10] Name that Secretary of the Interior, who was a big supporter of isolationism and the women's suffrage movement before deep-sixing his political career. 

ANSWER: Albert Bacon Fall 

[10] Harding's Secretary of the Treasury was this man, whose questionable ideas included his “liquidationist thesis,” in which he recommended that the Federal Reserve refuse to loan money to banks he believed weak. 

ANSWER: Andrew William Mellon 

4. In one of his best known works, he writethat “a million million slimy things lived on/ and so did I.” For 10 points each: 

[10] Identify this poet of “The Rime of the Ancient Mariner.” 

ANSWER: Samuel Taylor Coleridge 

[10] That poem was published in this collaboration with William Wordsworth. 

ANSWER: Lyrical Ballads, with a Few Other Poems 

[10] This Coleridge poem repeatedly invokes “my gentle-hearted Charles” and opens by considering how the persona has lost “beauties and feelings.” 

ANSWER: “This Lime-Tree Bower My Prison” 

5. They are extraordinarily hot, and typically end their lives as type Ib [one B] or Ic [one C] supernovae. For 10 points each: 

[10] Identify this class of massive stars named for the two French astronomers who discovered them. Gamma Velorum is an example of one visible with the naked eye. 

ANSWER: Wolf-Rayet stars 

[10] Wolf-Rayet stars exhibit extremely high velocities for this phenomenon, defined as the gas ejected from the star's surface. This phenomenon accounts for the mass loss in Wolf-Rayet stars.

ANSWER: stellar wind 

[10] Wofl-Rayet stars now have their own spectral class, W, but they are also very similar to stars in this spectral class, and may be low-mass descendants of stars in this brightest class.

ANSWER: O 

6. Answer some questions about IHOP, for 10 points each. 

[10] IHOP stands for the International House of this breakfast essential. 

ANSWER: pancakes 

[10] IHOP serves a dish it calls Swedish crepes, which feature a syrup made from this fruit, casually called a kind of berry. 

ANSWER: lingonberry [or cowberry; or foxberry; or mountain cranberry; or red whortleberry; or lowbush cranberry; or partridgeberry; or redberry; or Vaccinium vitis-idaea] 

[10] To satisfy people yearning for a question requiring real food knowledge, give the term that, combined with a region of France, is how créperies in France refer to buckwheat pancakes. This term is also used to describe a flaky pastry eaten on the festival of Epiphany. 

ANSWER: galettes [or galette bretonne; or galette des Rois] 

7. One of his plays, Le roi s'amuse, referred to Francis I, while another, never performed, was entitled Cromwell. For 10 points each: 

[10] Identify this author, who created characters like Enjolras, a student leader, and a man who kills himself after hearing a horn blown by Silva, Hernani. 

ANSWER: Victor-Marie Hugo 

[10] Victor Hugo is pretty well known for this novel, in which Jean Valjean saves the life of Inspector Javert, even though the latter is trying to capture him. 

ANSWER: Les Misérables 

[10] The woes of the such titular characters as Sieur Clubin, the captain of the ship Durande, form the plot of this Hugo novel about Gilliat, who loses Deruchette to Caudray. 

ANSWER: The Toilers of the Sea or Les Travailleurs de la mer 

8. It consisted of eight states, including the cities of Lucerne, Zurich, and Berne, though it began with three states breaking away from Habsburg control. For 10 points each: 

[10] Identify this polity, which became part of the Helvetic League upon invasion by France. 

ANSWER: Old Swiss Confederation [or Old Swiss Confederacy] 

[10] One of the Swiss Confederation's military victories was against this duchy, led by Charles the Bold. It was annexed by France after Charles the Bold was killed at the Battle of Nancy in 1477. 

ANSWER: Burgundy [or Bourgogne; or Burgund] 

[10] The Swiss Confederation, like modern-day Switzerland, was divided principally into these administrative regions. 

ANSWER: cantons 

9. They commonly require transition tables depicting the various conditions under which transitions should be made. For 10 points each: 

[10] Identify these theoretical constructs, classified into acceptors and recognizers, which have enough memory to remember their own condition. 

ANSWER: finite state machine [or FSM; or finite state automaton] 

[10] This is the name for the procedure which takes a finite state machine and returns one with a minimum number of states, by moving through a series of equivalence partitions. 

ANSWER: Moore reduction procedure [accept equivalents] 

[10] Give a stack to a finite state machine, and it becomes a pushdown automaton. If that stack does not have to be last-in-first-out, then this construct is equivalent to one of these theoretical universal computers, named after a man who authored a certain thesis with Church. 

ANSWER: Turing machines 

10. Answer some questions about early twentieth century philosophy, for 10 points each. 

[10] Identify this social philosopher best known for The Work of Art in the Age of Mechanical Reproduction. 

ANSWER: Walter Bendix Schonflies Benjamin 

[10] Benjamin was occasionally associated with this school, best known for the leadership of Horkheimer and Adorno. 

ANSWER: Frankfurt School 

[10] Benjamin used this term to refer to the feeling one gets in the presence of unique works of art. Now that some works have no real “original” and now that copies are so easily made, art is freed from the rituals that this sensation generates. 

ANSWER: aura 

11. Its subject gazes into the crook of his right elbow, grasping his head with his right hand. His left arm is raised as he turns to the right. For 10 points each: 

[10] Identify this sculpture, which created a little bit of an uproar when its artist was accused of having cast a living model. 

ANSWER: The Age of Bronze [or L'Âge d'airain] 

[10] Identify that sculptor, better known for his The Gates of Hell, as well as The Burghers of Calais. 

ANSWER: Auguste Rodin [or François-Auguste-René Rodin] 

[10] Rodin created a Monument to this author. Just like his earlier Monument to Victor Hugo, it met with a lot of criticism. 

ANSWER: Monument to Balzac [or Honoré de Balzac] 

12. For 10 points each, answer some questions about the history of Australia. 

[10] This British explorer landed the Endeavor at what he called Botany Bay. William Bligh served on his ship before he had command of the Bounty. 

ANSWER: James Cook 

[10] Bligh later became governor of this state of Australia, which had a persistent rivalry with neighboring Victoria. 

ANSWER: New South Wales 

[10] This politician led the Free Trade Party in New South Wales and later became Australia's fourth prime minister. He resigned from Parliament after Alfred Deakin proposed the fusion of the Free Trade Party with the Protectionists to oppose the larger Labour party. 

ANSWER: George Houstoun Reid 

13. It has half-cell and full-cell forms, the former of which invokes the ratio of two chemical activities, whereas the latter in the same place uses the reaction quotient. For 10 points each: 

[10] Identify this fundamental equation of electrochemistry. 

ANSWER: Nernst equation 

[10] You can derive the Nernst equation by messing around with the change in entropy and then plugging it into the expression for the change in thermodynamic quantity, equal to the change in enthalpy minus the temperature times the change in the entropy. 

ANSWER: Gibbs free energy 

[10] The Nernst equation can be applied to calculate membrane potentials, which are measured in volts. Elsewhere in electrochemistry, these diagrams relate the oxidation state of a given element to the voltage applied at a given pH. 

ANSWER: Frost diagrams 

14. His Loci Communes Theologici systematized evangelical thought, and he debated Johannes Eck along with Luther and Karlstadt. For 10 points each: 

[10] Identify this theologian, one of Martin Luther's greatest allies, who wrote most of the Augsburg Confession. 

ANSWER: Philip Melanchthon [or Philipp Schwartzerd] 

[10] Melanchthon was present at this meeting between Martin Luther and Ulrich Zwingli; they couldn't resolve their differences over the nature of the Eucharist, ground that was revisited at the Diet of Augsburg. 

ANSWER: Colloquy of Marburg [or Marburg Colloquy] 

[10] Melanchthon opposed the Immaculate Conception, which was defended along the lines of an argument made by Duns Scotus by the schismatic rump that remained after this ecumenical council, first convened in 1431 in a Swiss city, move to Ferrara. 

ANSWER: Council of Basel 

15. In this short story, Pelayo and Elisenda find the title character, and eventually Elisenda starts charging admission. For 10 points each: 

[10] Identify this short story about the sudden appearance of an angel, who is eventually supplanted as the town freak by a woman transformed into a tarantula. 

ANSWER: “A Very Old Man With Enormous Wings” [or “Un señor muy viejo con unas alas enormes”] 

[10] “A Very Old Man With Enormous Wings” is one of several short stories by this author of the collection Leaf Storm and such novels as The Autumn of the Patriarch. 

ANSWER: Gabriel Garcia Marquez 

[10] In this novel, Garcia Marquez recounts a murder and the events leading up to it from several different perspectives. It depicts Santiago Nasar's killing at the hands of Pedro and Pablo Vicario. 

ANSWER: Chronicle of a Death Foretold 

16. Founded by the Sima family, it united China after the Three Kingdoms period. For 10 points each: 

[10] Identify this dynasty, whose name also refers to a short-lived Jurchen kingdom in Northern China ruled by two emperors, Taizu and Modi. It's commonly divided into Western and Eastern periods. 

ANSWER: Jin Dynasty [or Jìn cháo] 

[10] That division owes to the conquest of Luoyang and Chang'an by this state, one of the Sixteen Kingdoms. It was ruled by Lie Zong during that conquest. 

ANSWER: Han Zhao 

[10] This dynasty was originally founded under the name of the Later Jin by a people descended from the Jurchen. It's notably the last dynasty to rule China. 

ANSWER: Qing Dynasty [or Manchu Dynasty; or Daicing gurun; or Qīng cháo] 

17. Its total rise of about eighteen thousand feet is greater than that of Mount Everest. F or 10 points each: 

[10] Identify this mountain, the tallest in North America. 

ANSWER: Mount McKinley [or Mount Denali] 

[10] This island in the Gulf of Alaska, separated from the mainland by the Shelikof Strait, might be best known for its cute bears. 

ANSWER: Kodiak Island 

[10] Though Juneau is famous for being inaccessible to any other Alaskan city by road; it is on the mainland near this group of islands. 

ANSWER: Alexander Archipelago 

18. It is best known for storing glycogen. Apparently divided into four lobes, it receives the common bile duct, as well as a certain portal vein and artery, through the hilum. For 10 points each: 

[10] Identify this structure, both the largest internal organ and the largest gland. 

ANSWER: liver 

[10] The liver contains particularly high levels of this enzyme, which breaks down hydrogen peroxide. 

ANSWER: catalase 

[10] The liver's real functional divisions are eight in number. In addition to the left hepatic vein, the fissure through which this ligament passes separates the medial and lateral segments. It lies on the free edge of the falciform ligament.

ANSWER: ligamentum teres hepatis [or the round ligament of the liver; prompt on falciform ligament] 

19. Just out of his second divorce, the title character writes letters to Eisenhower and Nietzsche, as well as his ex-wife Madeleine. For 10 points each: 

[10] Identify this novel, whose title character briefly considers killing Madeleine and Valentine to take custody of his daughter Junie. 

ANSWER: Herzog 

[10] Herzog was written by this author of The Adventures of Augie March. 

ANSWER: Saul Bellow [or Solomon Bellows] 

[10] In this novel, the title character's protege, Charlie Citrine, profits wildly from a movie whose central character, named Von Trenck is modeled on the title character. 

ANSWER: Humboldt's Gift 

20. Answer some questions about a period of time that will proceed the Apocalypse, for 10 points each. 

[10] Left Behind depicts this period in Christian eschatology sort of predicted by 1 Thessalonians, during which Jesus sucks people off Earth to be his saints. 

ANSWER: the Rapture 

[10] The book of Daniel says that this period, which Dispensationalists think follows the Rapture, should probably last seven years. Believers are abused a whole lot, but they are purified and their faith is strengthened. 

ANSWER: the Great Tribulation 

[10] 7 trumpets are also blown as part of the Apocalypse, the fifth of which will summon this great demon of the Abyss, who will bring a bunch of locusts to ravage all the crops around the world. 

ANSWER: Apollyon [also accept Abbadon]

21. Her self-portrait shows her leaning against some red-striped cushions, while in Degas's portrait of her, she leans forward in her chair, holding three photographs. For 10 points each: 

[10] Identify this painter of The Boating Party and Summertime. 

ANSWER: Mary Stevenson Cassatt 

[10] Though Cassatt was born in Pittsburgh, she lived in France for a long time and exhibited with this movement, which includes Monet. 

ANSWER: Impressionism [accept word forms] 

[10] Cassatt's portrait of her mother was titled this, after what her mother is doing besides sitting in a cushy armchair. 

ANSWER: Reading le Figaro 

22. He wields Mjollnir, and Loki once cut off his wife's hair. At Ragnarok, he kills and is killed by Jormungand. For 10 points each: 

[10] Identify this god, the husband of Sif. He's really, really strong. 

ANSWER: Thor 

[10] Name Thor's servant, originally the child of the peasant family with whom Thor and Loki once stayed. When Thor sacrificed his goats to feed the family, this kid sucked the marrow out of one of the bones, laming the goat when Thor regenerated it. 

ANSWER: Thialfi 

[10] Name Thor's hall, which contains five hundred forty rooms. It's located in Thrudheimr, which maybe should be called Thrudvangr. 

ANSWER: Bilskirnir 
